[bookmark: _GoBack]libname hwydata 'D:\';
libname pq115 'D:\USPS-FY15-36\Highway\pq115';
libname pq215 'D:\USPS-FY15-36\Highway\pq215';
libname pq315 'D:\USPS-FY15-36\Highway\pq315';
libname pq415 'D:\USPS-FY15-36\Highway\pq415';


options validvarname=V7;
   


*****************************************************************************;
*****************************************************************************;
*Create month, year, day of week, PQ(quarter) variables *********************;
*****************************************************************************;
*****************************************************************************;

**First Quarter**;

data sample1;
set pq115.Sample;
run;
 ** Format the date variable **;
data sample2;
set sample1;
ACTUDATE1=input(ACTUDATE,YYMMDD8.);
run;

***Create the year, month, dow (day of week), quarter and year variables *****;

data sample3;
set sample2;
mnth=month(ACTUDATE1);
yr=year(ACTUDATE1);
dow=weekday(ACTUDATE1);
PQ=1;
fy=2015;
run;

***Save the intermediate data ***;

data pq115.sample_mn_yr_dow;
set sample3;
run;

*** Repeat the process for quarters 2 through 4 ********;
data sample1;
set pq215.Sample;
run;

data sample2;
set sample1;
ACTUDATE1=input(ACTUDATE,YYMMDD8.);
run;

data sample3;
set sample2;
mnth=month(ACTUDATE1);
yr=year(ACTUDATE1);
dow=weekday(ACTUDATE1);
PQ=2;
fy=2015;
run;

data pq215.sample_mn_yr_dow;
set sample3;
run;


data sample1;
set pq315.Sample;
run;

data sample2;
set sample1;
ACTUDATE1=input(ACTUDATE,YYMMDD8.);
run;

data sample3;
set sample2;
mnth=month(ACTUDATE1);
yr=year(ACTUDATE1);
dow=weekday(ACTUDATE1);
PQ=3;
fy=2015;
run;

data pq315.sample_mn_yr_dow;
set sample3;
run;

data sample1;
set pq415.sample;
run;

data sample2;
set sample1;
ACTUDATE1=input(ACTUDATE,YYMMDD8.);
run;

data sample3;
set sample2;
mnth=month(ACTUDATE1);
yr=year(ACTUDATE1);
dow=weekday(ACTUDATE1);
PQ=4;
fy=2015;
run;

data pq415.sample_mn_yr_dow;
set sample3;
run;

***********************************************************************************************************;
***********************************************************************************************************;
*Calculate the group size where a group is defined as a set of variables with a same FACCAT and con_type **:
***********************************************************************************************************;
***********************************************************************************************************;

** First Quarter **;
;
data sample_mn_yr_dow1; 
set pq115.sample_mn_yr_dow;
run;

***Sort the data by FACCAT and con_type **;

proc sort data=sample_mn_yr_dow1;
by FACCAT con_type;
run;

***Create a variable that equals 1 for each row to facilate summing  and calculate ***;
***the total amount of observations in each group                                  ***;

data sample_mn_yr_dow12;
set sample_mn_yr_dow1;
count=1;
run;

data sample_mn_yr_dow13;
set sample_mn_yr_dow12;

***Generate groups by putting the variables with same FACCAT and con_type together    *************************; 
***Create the variable sample size(sampsize) which equals the total amount of observations in each group ******;


Proc sql;
create table sample_mn_yr_dow14 as
select *, sum(count) label="sampsize" as sampsize
from sample_mn_yr_dow13
group by FACCAT, con_type
order by FACCAT, con_type;
quit;

** Save the intermediate data  **;

data pq115.sample_mn_yr_dow_sampsize;
set sample_mn_yr_dow14;
run;

*** Repeat the process for quarters 2 through 4  ***;
;
data sample_mn_yr_dow2; 
set pq215.sample_mn_yr_dow;
run; 

data sample_mn_yr_dow22;
set sample_mn_yr_dow2;
count=1;
run;

data sample_mn_yr_dow23;
set sample_mn_yr_dow22;

Proc sql;
create table sample_mn_yr_dow24 as
select *, sum(count) label="sampsize" as sampsize
from sample_mn_yr_dow23
group by FACCAT, con_type
order by FACCAT, con_type;
quit;

data pq215.sample_mn_yr_dow_sampsize;
set sample_mn_yr_dow24;
run;

*=======================================================================================================;
data sample_mn_yr_dow3; 
set pq315.sample_mn_yr_dow;
run; 

data sample_mn_yr_dow32;
set sample_mn_yr_dow3;
count=1;
run;

data sample_mn_yr_dow33;
set sample_mn_yr_dow32;

Proc sql;
create table sample_mn_yr_dow34 as
select *, sum(count) label="sampsize" as sampsize
from sample_mn_yr_dow33
group by FACCAT, con_type
order by FACCAT, con_type;
quit;

data pq315.sample_mn_yr_dow_sampsize;
set sample_mn_yr_dow34;
run;

data sample_mn_yr_dow4; 
set pq415.sample_mn_yr_dow;
run; 

data sample_mn_yr_dow42;
set sample_mn_yr_dow4;
count=1;
run;

data sample_mn_yr_dow43;
set sample_mn_yr_dow42;

proc sql;
create table sample_mn_yr_dow44 as
select *, sum(count) label="sampsize" as sampsize
from sample_mn_yr_dow43
group by FACCAT, con_type
order by FACCAT, con_type;
quit;

data pq415.sample_mn_yr_dow_sampsize;
set sample_mn_yr_dow44;
run;

*=======================================================================================================;
*****************************************************************************'
*****************************************************************************;
*Generate the Variables Used in the Econometric Analysis  *******************;
*****************************************************************************'
*****************************************************************************;

** First Quarter ****;

data sample_mn_yr_dow_sampsize1; 
set pq115.sample_mn_yr_dow_sampsize;
run; 

** Generate required variables  ****;

data sample_mn_yr_dow_sampsize11;
set sample_mn_yr_dow_sampsize1;
stratum_weight=frmcount/sampsize;
per_empty_space=(empty-emptyequ)/100;
per_empty_tablevi=empty/100;
per_mail_volume=(100-empty)/100;
empty_space_cube=stratum_weight*CAPACITY*per_empty_space;
mail_volume_cube=stratum_weight*CAPACITY*per_mail_volume;
total_volume_cube=stratum_weight*CAPACITY;
trips=stratum_weight;
empty_space_tablevi=trips*per_empty_tablevi;
run;

** Second Quarter ****;

data sample_mn_yr_dow_sampsize2; 
set pq215.sample_mn_yr_dow_sampsize;
run; 

** Generate required variables  ****;

data sample_mn_yr_dow_sampsize21;
set sample_mn_yr_dow_sampsize2;
stratum_weight=frmcount/sampsize;
per_empty_space=(empty-emptyequ)/100;
per_empty_tablevi=empty/100;
per_mail_volume=(100-empty)/100;
empty_space_cube=stratum_weight*CAPACITY*per_empty_space;
mail_volume_cube=stratum_weight*CAPACITY*per_mail_volume;
total_volume_cube=stratum_weight*CAPACITY;
trips=stratum_weight;
empty_space_tablevi=trips*per_empty_tablevi;
run;


*** Third Quarter ****;

data sample_mn_yr_dow_sampsize3; 
set pq315.sample_mn_yr_dow_sampsize;
run; 

** Generate required variables  ****;

data sample_mn_yr_dow_sampsize31;
set sample_mn_yr_dow_sampsize3;
stratum_weight=frmcount/sampsize;
per_empty_space=(empty-emptyequ)/100;
per_empty_tablevi=empty/100;
per_mail_volume=(100-empty)/100;
empty_space_cube=stratum_weight*CAPACITY*per_empty_space;
mail_volume_cube=stratum_weight*CAPACITY*per_mail_volume;
total_volume_cube=stratum_weight*CAPACITY;
trips=stratum_weight;
empty_space_tablevi=trips*per_empty_tablevi;
run;

 ** Fourth Quarter *****;
data sample_mn_yr_dow_sampsize4; 
set pq415.sample_mn_yr_dow_sampsize;
run; 

** Generate required variables  ****;

data sample_mn_yr_dow_sampsize41;
set sample_mn_yr_dow_sampsize4;
stratum_weight=frmcount/sampsize;
per_empty_space=(empty-emptyequ)/100;
per_empty_tablevi=empty/100;
per_mail_volume=(100-empty)/100;
empty_space_cube=stratum_weight*CAPACITY*per_empty_space;
mail_volume_cube=stratum_weight*CAPACITY*per_mail_volume;
total_volume_cube=stratum_weight*CAPACITY;
trips=stratum_weight;
empty_space_tablevi=trips*per_empty_tablevi;
run;
;
*** Combine the four quarterly data sets into a single data set  ***;

data fy15weight;
set sample_mn_yr_dow_sampsize11 sample_mn_yr_dow_sampsize21 sample_mn_yr_dow_sampsize31 sample_mn_yr_dow_sampsize41;
run;

*** Save the combined dataset ***;

data hwydata.fy15weight;
set fy15weight;
run;
*=======================================================================================================;

*************************************************************************************************:
*****  Eliminate Unecessary Variables and Create Uniform Variable Formats and Lengths  **********;
*************************************************************************************************;

data hwydata.fy15weightraw;
set Hwydata.fy15weight;
run;


*FOR FY10 AND FY11 ELIMINATE VARIABLES blowup, cluster, mi, pop, samplingweight, and timeseg from DROP = statement;

data fy15weightraw1;
set hwydata.fy15weightraw (drop = ACTUDATE blowup cluster COST costcfm EXPRESS Mi OTHER PALLETS PERWEEK pop ROUTE SACKS SamplingWeight segind timeseg TRIP WHEELED ZEROVOL);
run;


data fy15weightraw2;
set fy15weightraw1 (rename =(ACTUDATE1=testdate));
run;

*** Convert data variables to character format set variable lengths ***;

data fy15weightraw3;
set fy15weightraw2;
fy1=put(fy, 4.);
drop fy;
rename fy1=fy;
mnth1=put(mnth, 2.);
drop mnth;
rename mnth1=mnth;
PQ1=put(PQ, 1.);   
drop PQ;
rename PQ1=PQ;
run;

*** Save the final dataset ***;
data hwydata.fy15weight;
set fy15weightraw3;
run;

